大专《电路基本分析》自测题答案
一、填空：
1  Uac＞0 ，Uac＜0

2  US+Ri 

3  15W,179W
4  －1.5A

5  115V
6  15W,179W

7  120°   超前

8  电感

9  UL=1.732UP     IL=IP

二、 选择题
1  B

2  C

3  B

4  A

5  C    
6  B   

7  B

8  C    

9  C   

10  D
三、I=6A
四、Uab=60V           
五、U=8.01V 
六、(a) 6Ω； (b) 2Ω； (c) 3Ω

七、I1 = 1A， I2 = 0.6A， I3 = 0.4A
八、解：uc(0+)=5V 

uc(∞)=10V

τ=RC=10s 
uc(t)=10-5e-0.1tV 
九、解：
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[image: image2.wmf]W

=

47

.

318

1

C

X

, 
[image: image3.wmf]A

I

0

1

90

69

.

0

Ð

=

, 
[image: image4.wmf]W

=

9

.

636

2

C

X

, 
[image: image5.wmf]A

I

0

2

90

345

.

0

Ð

=


_1084098528.unknown

_1084098586.unknown

_1084098631.unknown

_980186856.unknown

